Notes for video 4.2.: http://tinyurl.com/rr480/videos/se-ci  

[image: C:\Users\ahamann\AppData\Local\Temp\msohtmlclip1\02\clip_image001.png]



[image: C:\Users\ahamann\AppData\Local\Temp\msohtmlclip1\02\clip_image001.png]

[image: C:\Users\ahamann\AppData\Local\Temp\msohtmlclip1\02\clip_image001.png]
   pop1 = rnorm(10000)*3+15
   sample1 = pop1[sample(1:10000, 5, replace=F)]
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Standard error: If | were to repeat an experiment over and over and over, each
time taking a samples and calculating statistics, then:

\ 68.27% of the values of my statistics (e.g. means) would fall within +1 SET

Also:

j S-vwcf‘t
\LThere is @ 68.27% chance that the true mean falls within +1 SE ' i
t -+ roru ahom

Confidence interval: Same with multiplier, e.g. x 1.96 for n>30

{ There is a 95% chance that the true mean falls within +1.96 SE (1 Clss) \





